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And through n»%2 and through the sons of 77p

OVERVIEW

The Xn>>92 mentions ten people who were coauthors of 2°27n together with 77,
namely; *mp *12 AW 20K T 100 ,Awn ,0002K LpTE 991 07K, In some text
oW is included among the ten and in others not. NdOIN justifies both N7,

— SqONAN NYD) NYP 233 NWHYN NN GONRT 1Y P98 *Invy »09)7 039901 %95
According to those texts, which include 7% (in the ten); it will be necessary to

say that noX was one of the three sons of 79? and 70X is the same as nON2N.
— “D99999NN 0NYN 17 NN GON NN GONIIN GYON M1 XY NNYY 5093 9T 09909

However according to the text that do not include 7% as one of the ten, we
will assume that AR is not nER"2R (the son of m7p),” but rather noX was one of
the 2% that sang (by the miap).

mooIn asks:
— 1199 2YUN XY INNIN 1Y 2D9) XYT 1NN 9NN ON)

And if you will say; and according to those who do not list 725w, why indeed

did they not include him -
— I PPVOYN DINYN NNYYY (fay vnm 29N N

For it is written Touswn 29K mnbwh (which presumably translates to) — a psalm

by mmbw; Hashem your justice, etc. we see that 5w did compose a psalm, so why is he
not included?!

Mo0IN answers:
— PMYY DY HO9NNY NN TITT 9010 UM

And one can say; that 717 said this psalm and he was praying regarding mm»>w,

" m%w *"91 does not appear in our texts.

? There are twelve 2°p19 in 0°%7n that were composed by (7oX?) 7oX.

? There are eleven 0°p9 in °%7n that were composed by the (7P °13%) n9p *12. The three sons of 7P are 717X ,7°0R
(72,1 [RIX1] NMaw) Hoxeax.

*If we include 5w and retain nox, there will be elven composers not ten.

> We will need to delete oK (as separate from n7p *12 7wow) from the list of ten, and assume that qox is the same
person as HoR°ax, namely one of the 7P *12 MWHW. (AOXR°2X) AOX composed twelve 0°p79 on his own and eleven more
together with his brothers 71p2R) 70X.

6 See 72,1 R-D°1°71 °127 where 77272 32 (0K is mentioned.

" For then he will be mentioned twice (once as 7oX and once as P *12 AWLWY), so there will only be nine.

8 X proo.
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so the translation would be a psalm for (the benefit of) 75w, not a psalm by 77w -

mooIn offers proof that this M was said by 77 (and not by mn5w)
— 91 MY 195 "9mtnn 9102 29027 YN

You know that this is so, for at the end of this 9112 it is written, ‘the prayers of
717 have concluded’; proving that this 2% was said by 717.

mooIn asks:
— 4y 591 195 29097 NNV 20927 ©2990Y MINN ON)

And if you will say; according to the text that include m72%2, but it says 9>
717 MY5N; indicating that this 2 was said by 717 not by mbw —

mooin answers; indeed this MMM was said by nnow:
— 197 110V 29D 9D YU

And one can say; the reason it says 717 M50 193, because 717 concluded this M.

mooIn replies to an anticipated difficulty if we are not 72w 0
— 19N TV MYYN NIYY WNN DT 1IN 19 1D N7 NNRYYI Mo¥NN Y 5193 291797 N

And also concerning that which is written m»bwh nhwnn 2w, there is no
difficulty, for indeed 717 also said that " as well,'” for 717 said all the fifteen
nvowna w. P

NN now cites a third X0
— 5n9INA 1PN DNYAN 2PYN KPT D190 Y

And there are texts that mention 27928 and S79IN7 NS (among the ten that
contributed to 2°%7n) -
— *on9ar NI INIIND PN 29 N PPN YN KDY DN YN X1 P1NpY 995

And they are o7 later, ‘how is it that he mentions 277928 and mentions NN,
but 27 said that 7987 10K is a7aR?!’

715 proo.

' See “Thinking it over’.

1R, 10 ovomn.

12 There too in>w will mean on behalf of Tnbw.

13 See x,31 0.

' According to this X073 we will need to say that 7oX is qOX*2X (one of the sons of 17pP) and 7n>w> means for Anow
(and not by 7n%w), for otherwise there would be more than ten.

5 The x shortly asks, why does he not mention >r7rR:7 1°K [as one of the contributors to 2770 (see vd D°27n)].
The X3 answered that r7IKR7 11°K is 07728, However how do we explain the X3 if we are 1R 10°K 07137

16 This is derived (according to all mRo7*3 from a MW 771 of *AIIRT 1R (from the WY of n7m) and the 7105 (in
2,81 7Yw°) regarding 07728 which states 0Atn VT N,
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— Tamys NIA 2YUN NPT INITRD JION 21U
And the X7 answers (according to this Xo7°3) that smarR7 3n°X, which he
mentions here is 2P¥° (not o712x).

nooIN asks:
— NN YT HY 1990 AN 19 15 NIT ND) INNY num

And there is a difficulty according to this 809’3, for how do we know that 717
wrote his 2°77n 958 through 2:792x -
1DN9AN 13997 IND INIIND JNINT 199

Since STIINT IR is not 27792aK (but 2py°), and (seemingly) there is no other 2w than can
be attributed to 07712X (besides IR NORY 270Wn).

SUMMARY

All agree that these nine contributed to 2°27n namely; ,7wn ,0072R ,P78 %1 07
mIp °12 wowY ,1 M7 1m0, Those who do not include 7n%w mention 70X°2R (who is
not from n7p °12); those who mention 715w consider AOX as 7oX*aR (one of the °12
np). Those who include *nR7 X (do not include %% or H0X), but need to
explain why we include 2772X.

THINKING IT OVER

Mmoo asks according to those that include nn?w (based on 2y M), there is a
difficulty since that 9mm concludes with "% 717 n2on 193."% Seemingly they can
maintain that 75w is included (not necessarily because of 2y Tamn), but rather
because of (1op M) 7AW MYyNI Y.

" The "t here is from the 109 regarding 2p¥° (in 29,25 [[2w™1] NWX12) that wAws 19 07 with ARG 10K,
18 See footnote # 10.
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